Add



T
2+3=5



Addend



+ 3 + 2=10

addends




Algorithm



47
+16
13
63

Add the ones 7+ 6 =13
Add the tens 40 + 10 =50

Add the partial sums

3b



Area



2 rows of § =10 square units
or
2 X § =10 square units

4b



Area Model



S + 2
4

| dxT=(4x8)+(4x2=28



Array



3rowsof §
3x5

o000
009 PR
o000




Associative Property of
Addition



G+7)+3=5+(7+3)
12+3=5+10
15=15

7b



Commutative Property
of Addition



Commutative Property

. EEgEE
3+2=2+3
a+b=Db+a




Compose






Decompose



Decompose
342

7L\
300 + 40 + 2

To senarate a numberinto 2 or



Difference



289 — 146 =143

difference



Dividend






Division






Divisor






Equation



15b



Factor



2x6=12

N

factors



Multiplication



I

&

3x5=5+5+5




Non-overlapping



18b



Perimeter



Perimeter

The distance around the n‘m
outside of a shape.

dem

Fermmeter =4om=-6em~4em= Y em
=1Tem

19b



Place Value



Hundreds

ParEEs
i o T |
I'ens | Ones
e R

3

4

300 + 40 + 2

20b



Plane Figure



21b



Product



N

7 ¢



Quotient






Rounding



Rounding

4

.

4 B
‘|||,1r1||||'

40 50

A method of finding a number to its

nearest place value.



Subtract



3 pounds ? 88800

§-3=35 §-3=5

25b



Sum



453 + 929 = 1,382

"~

Sum



Unit Square



1 unit

1 unit

1 unit

1 unit




